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| Semester B.Com. Examination, November/December 2013

(Semester Scheme)
(Repeaters) (Prior to 2011-12)

COMMERCE
Business Economics — |

Time : 3 Hours

1.

Max. Marks : 90

Instruction : Answer should be written completely either in English or in

Kannada.

SECTION—-A

Answer any ten of the following. Each question carries 2 marks.
M 2903N%0.

) o

CIRFTOTTR TR TINT YVTOR. T3 YOTEI

a) Whatis Business Economics ?
ﬁﬂﬁméé @drm@@oddﬁm ?

b) Give the meaning of Total Utility.
W), BOXNNIEOT WHF IO SRR

c) Whatis Opportunity Cost ?
CN D m’”zi@oddem ?

d) Give the meaning of Budget Line.
TOOOTITE €3TT0030 Te83 0TITeT0 7

e) Distinguish between firm and industry.

:do:.i NOEN emdddad qg%ﬁ '311 3P
f) Define Production Function.

NTITTD FOOLF 3,030 T80, QeR,
g) Whatis “Giffen’s Paradox™ 7

NTTF OTRETTOLTR 0TTETO ?
h) State the Law of Supply.

(10x2=20)

P.T.O.
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1) Why does the demand curve slopes downwards ?

23eRBCD TeEICL VTTEDT2NTLD ToTETCT0 ?
i) Distinguish between AC and MC. )
AC 53533 MC n¥ D500 39 A00 94,
k) Give the meaning of Business Operations.
%dm@é FoO3INF 2305 0T @qﬁ?d:dg{ e,

1) Whatis Decision Making 7
ICTRE T FNRYI VT QOTTETD ?

SECTION -B

Answer any five of the following. Each question carries 5 marks. (6x5=25)
CIRRTIDTTLR DT TINPT YUTOR. & TIN5 L08R
2. State the difference between Economics and Business Economics.
O TR FILY W WTOOT WHF TR, DRV FBYANTI) S9R.
3. What do you mean by Consumer Sovereignty ? State its limitations.
WROLIRENOI TOTF LTI, DOTTERD ? BT LB ETHNEI2 SVR.

4. From the following cost data given below, calculate FC, VC, AFC, AVC, AC and
MC.

39NS TT208NE B 403, BCRnR Fi, TR0 AT, 0RO wwenos [,
RoeR0 23,502y 263372088 eI BRI,

Output (in units) 1 N i
NTT (FIINGD)
Total Cost (in Rs.)
508 (Te.nvQ)) 400 720 | 790 | 875 | 1,020 | 1,270

5. What is Elasticity of Demand 7 Explain the types of Elasticity of Demand.
IEQTOD ASHITTT, 20T ? QTWT SIVT W TIONTT 20:00R.
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6. What is meant by Total Outlay Method ? From the following information determine
the nature of price elasticity of demand using total outlay method.

430 353, TS 0TTER0 2 FEND TONYOT 1T eels 2, GRDITEY, T3 A, DRTDN 083 %
- v : Y o |t % w3

Price/Unit

Situation (in Rs.) Demand
come |/ pusg| S
10 600
A) 15 500
20 400
10 | 600
B) 15 350
20 | 200
10 600
C) 15 400
20 300

7. What are the determinants of supply
;eqjﬁodﬁi DT ORI LoBNTIYR) ?

8. Explain the short-run behaviour of FC, VC and TC with the help of graph.
ROTE, WTTDNOT T, OB Whd) eI DERTO WIE DT TeeTUZ,T TRTE SNOHE)

9. What is consumer surplus ? Explain it diagrammatically.

L

STRENOD QTSR HOTTEDD ? Teod 232 TIR0DN DO,

i

. SECTION-C

Answer any three of the following. Each question carries 15 marks. (3x15=45)
CINT TR ToRTe TINET g0 Z8 TIN 15 LT,
10. Explain the roles and responsibilities of business economist.

DITUT 2TE TR WO, WIBY FERTMDOECIOT TR
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11.

12.

13.

14,

4 ~ JMWEUATTRERN D

Give the meaning of Indifference Curve Analysis. Explain its assumptions and

properties.
CROIOVDIN Qd%o&a DRI ST T3 VT &Q@&"ﬁ%’g{ ToNo rbsa@isan’@;a’%

4 “L 0

From the data given below, find the trend values for each year, using the method
of least squares and estimate the annual sales for the year 2013 and 2014.

hera ﬁﬁﬁdoﬁ D@D OBNYOTI 3,063 BROTIDIST ds‘btb ada TR dsarr— —"cs’éoaaocs
fsmw@wa 33@3 2013 Torin 2014 T DRETD C20TT2050 M@dd'ﬁo 60@’3@05@0330

Year 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011
ts<in
Sales (Rs. in lakhs)
S3IRToO8 (cha. @iﬁ@@ﬂ)

State and explain the law of equi-marginal utility.
NI0RCRTIOT wrbsau ?\Dwdmzﬁa YA WIBY LW

Explain the various internal and external economies of large scale production.
DRT, TEIOT LUBVTHCI S0B0T =02 LT, QTR 0D0NTR IO




